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The NNA discusses a man who married his sister in law, because he thought that his
wife died overseas, and makes a distinction between his sister in law being 110N to
return to her husband whereas he can return to his wife. Why isn't the N2 concerned
about him marrying his sister in law in first place? Since we only let a lady marry DIWUD
N112'V combined with the assumption that she will not want to suffer from the
consequences of a mistake, but here we let him marry his sister in law, where these
safeguards are not in place?

The XNA tells of a case of someone who did an N2V with his mother-in-law, and 21
NTIN' let him stay married to his wife. How is this case different from the XIna on ‘1D 7
about someone who is suspected of having done something inappropriate, where we
say that he can’t marry the lady's daughter?

Rashi writes that D'N2' ANNN is [1217 (unlike NIDDIN), if it's only |127T how can we use
itin a nINI 5p?

When a man mistakenly married his sister in law he can return to his wife. Does he
have to give his sister in law a DA?

The NNA refers to the WIN NWN 1I0'N as a I 1I0'N, as opposed to the NINK NID'N
NWN. Since she is no longer a W'N NWN once she is divorced, why is this a reflection on
the 110'R? She is MNIN because the NIYW'N |1 is no longer here, which is the same as
NYWNR NINNR, who is only 110X while she is here?

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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